Equivalent Bedroom Count:

—

1)

k= )
= w0
o ©
N o
Q o
(%]

© £
o X

[}

e v 2
o a N
o '8 f
- x

Q

> 8 >

= S =
=i * =i

Y— x Y—
(@] © (@]

It (S I

20 80 25

O M moOO® >

[1] based on maximum 4 bedrooms / unit.

comparison of options.

Option A total # total # Option B total # total #
1bd 2 bd 3 bd 4bd ofbeds of units 1bd 2 bd 3 bd 4bd ofbeds ofunits
0.5 0.5 1 1 0.4 0.6 1 1
50 0 0 0 50 25 62 0 0 0 62 24.8

9 9 8 8 83 25 9 9 8 8 83 25
12 12 7 6 81 25 12 12 7 6 81 25
20 30 0 0 80 25 16 31 0 0 78 25
0 50 0 0 100 25 2 40 0 0 82 24.8
0 0 0 25 100 25 0 0 25 100 25
1 41 0 0 83 25
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[1] based on maximum 4 bedrooms / unit.

comparison of options.

Option C total # total # Option D total # total #
1bd 2 bd 3 bd 4bd ofbeds of units 1bd 2 bd 3 bd 4bd ofbeds ofunits
0.25 0.5 0.75 1 0.35 0.6 1 1
100 0 0 0 100 25 72 0 0 0 72 25.2

10 10 10 10 100 25 9 9 8 8 83 24.55
12 12 9 9 99 24.75 12 12 7 6 81 24.4
26 37 0 0 100 25 20 30 0 0 80 25
0 50 0 0 100 25 2 40 0 0 82 24.7
0 0 0 25 100 25
5 8 6 12 87 24.8
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